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Physics Sample Questions sbnall dliwl Z3led
(Grade 9 — Grade 12) Teachers (12 sl = 9 Casall) golas
Choose the correct answer: dononall Y s

1.
If M =9.0 kg, what is the tension in string 1? M =9.0 kg pu ) 2 Ao gall A1) <uls 13
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The figure shows a 2 "V block on a frictionless 20N w3, gsma Jo F dn s 58 i
inclined surface. The block is at rest due to the Lgly o gl mha o USL.asd,
applied force F. if @ = 377, what is the gl jlaele =9 gl oo 377 s
magnitude of the applied force? fasnall e g, mlaall 4331 sall 28 sl

F

12 M

O r ~,
16 W

Or ~,
20N

O - ~,
98N
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3.
Two blocks A (mass= 10 kg) and B (mass = mha o opama WWETGE A Ll
8.0 kg) are attached fo each other through non- 50.20 LAl iS850 lalea JHa 5 08

stretchable string and a massless, frictionless

3 35 I 0% R E -."‘E“‘.
pulley as shown in the figure. The coefficient of o Y Lall e 30T LGS 4y B

kinetic friction between block A and the inclined & LS BOkg i gy B poall posms
surface is 0.20. What is the acceleration of (S B sl e g Hlb caliaf s )
block B if the angle of the inclined surface is =
3= 7
A
B
[v]

0.69 m/5°, down (Ja)

26mis”, up (Leh

2.6 miS", down (Jad)

omis"

eSawbiall SiljlaYl jldsl
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4.
A point charge Q, exerts a 2.6 N force on the 55 Qg oAl ma e Q, imal
other point charge Q. If the distance between Qo Qgssisiae s L 26N i,
the charges is tripled, what is the magnitude of Ol A0 i 3N s 8Ll sl 5 13

the force exerted on G, by Q.7

A B
] ]
< R >

029N
N S
o - ™
087N
h S
o s )
24N
. S
o g A
38N
\. ,f
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5.
A resistor R is connected in series with another Laglie pa gl o dlon o R Laglaal
resistor 5R through a battery of potential ol Ay e ) e ge LaaiE 5 5R 58!

difference V across its terminal and the current

sflall, & el sah ol 5
in the circuitis |. e 5 Va2 38

5 20R coal SR Jlam) K13
If the 5R resistor is replaced by a 20R resistor, Lo |y aall ol sas
the new current 1, is:

o ¢ ™y

0.291,

b A

o ' ™y
401,

b v

O ' ™y
0651,

M, v

o ' ™y
121,

b "y

EmSAT Huball sl i)
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Two pariicles each with charge of 2°7C ang 52000 Gl i Lagle flanen CE
mass 1-OH0 are release at the same time from ul€ Lasse el it o 1.OWG als
rest when they were 2-0C7 apart. What is the 13 Lananl e s ala 20007 Logr Zaluall
speed of one of the pariicles when they are el2cm Lag oy 28 aall am sl
12em apart? -

O ' ™

379.0 mis
" S
O )
12 mis
" S
O ™
290.0 mfs
" /
O s ™)
91 m/s
" /

EmSAT Huball sl i)
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7.

A wave travels on a string lying along the x-axis sl oppmpadas Jo g da g
such that vix.t)=2.5 sin(2.0nx — 6.0nt) S
where tis in seconds and x (or y) is in cm. The samg) VX, 8)=2.5 sin(2.0mx - 6.07t)

maximum value of the transverse speed is: {CM & (Y 5) X 5255 At a0

oot A el A et dppull_aleadl dasl)

47 omfs.

\ S

o e ~,
24 cmfs.

. S

o g ~,
2.5 cm/s.

. S

O e 5
7.5 cmis.

. A

EmSAT Huball sl i)
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8.

A20-m string lies along the x-axis. A force of Jse ol ol pemall o @ i pn laa
0.081 N'is applied to stretch the string and 0.081 N 's g dossll o r, 2.0 175 e
allow the wave ingall ~lacllls )G
i, =2.5 sin(0.1mx = 2.07t) tg travel down A€l (X, 1) = 2.5 sin(0.1mx — 9.07t)
the string ( where tis in seconds and x (or y} is Sam gy A0 e el Sam g calS) sl e
!Iljh[;mrihss of the string: (em > (Y S) X

) (ot sl ABE

o ¢ ™y

0.20 kg

e, -

o ' ™y
0.10 kg

h. "y

o ¢ Ty
20 kg

p. A

O ' ™
0.01 kg

p. A

EmSAT Huball sl i)
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9.
ER 3
The temperature of a material is 1-00 = 107k Las 100 % 107K s Lesdles ) jm da
{in Kelvin scale). what is its temperature mole e fas Lave syl all da s
in Fahrenheit scale? LT P gl

O ' ™

1340°F

. ,f

O s Y
1280° F

. S

O s ™
22607 F

. ,f

O s a
2320° F

N S

EmSAT Huball sl i)
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10.

What is the speed of a moving clock relative to icle b (observer) =i Al dasu
an observer who notices that the clock is twice iopu oa Lo e G (A T
slower? Sl all duals 25_atall dobud)

o - ™y

0.87c

\. ,f

O s Y
0.75¢c

h ,f

O g \
0.50c

s S

o - ™
0.25¢

N S

EmSAT Huball sl i)
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Answer Key
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Question Answer
1. 76N
2. 12N
3. 0.69m/s?
(down
Jad)
4 0.29N
5 0.2911
6. 379.0m/s
7. 47 cm/s
8 0.20kg
9. 1340°F
10. 0.87c
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